Discount
Equipment

=

DIAMOND
PRODUCTS

SPECIALTY EQUIPMENT
MANUFACTURING DIVISION

Hydraulic Hand Saw
Parts List

Models:

HS-20 SERIES
HS-24 SERIES

January 2007

Part #1801031




PARTS FINDER

Search Manual Can't Find Part or
Search Website Library For Parts Manual? Request Help
by Part Number Manual & Lookup Part by Manufacturer,
Numbers - Purchase Model & Description

DiS coun t or Request Quote
Equipment

Search Manuals

Discount-Equipment.comis youronline resource for quality parts & equipment.

Florida:561-964-4949 Outside FloridaTOLLFREE:877-690-3101

Need parts?

Click on this link: http://www.discount-equipment.com/category/5443-parts/ and
choose one of the options to help get the right parts and equipment you are looking
for. Please have the machine model and serial number available in order to help us
get you the correct parts. If you don'’t find the part on the website or on one of the
online manuals, please fill out the request form and one of our experienced staff
members will get back to you with a quote for the right part that your machine needs.

We sell worldwide for the brands: Genie, Terex, JLG, MultiQuip, Mikasa, Essick, Whiteman,
Mayco, Toro Stone, Diamond Products, Generac Magnum, Airman, Haulotte, Barreto,
Power Blanket, Nifty Lift, Atlas Copco, Chicago Pneumatic, Allmand, Miller Curber, Skyjack,
Lull, Skytrak, Tsurumi, Husquvarna Target, Stow, Wacker, Sakai, Mi-T-M, Sullair, Basic,
Dynapac, MBW, Weber, Bartell, Bennar Newman, Haulotte, Ditch Runner, Menegotti,
Morrison, Contec, Buddy, Crown, Edco, Wyco, Bomag, Laymor, EZ Trench, Bil-Jax, F.S.
Curtis, Gehl Pavers, Heli, Honda, ICS/PowerGrit, IHI, Partner, Imer, Clipper, MMD, Koshin,
Rice, CH&E, General Equipment ,Amida, Coleman, NAC, Gradall, Square Shooter, Kent,
Stanley, Tamco, Toku, Hatz, Kohler, Robin, Wisconsin, Northrock, Oztec, Toker TK, Rol-Air,
APT, Wylie, Ingersoll Rand / Doosan, Innovatech, Con X, Ammann, Mecalac, Makinex, Smith
Surface Prep,Small Line, Wanco, Yanmar


http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/page/1517-search-manuals/
http://discount-equipment.com/parts/

Drawing #1

# 2900167
# 6030206

A\
# 290060 5 @'
# 6030205 © \ K
# 2903040
o)
)
D S%
J ‘ # 2502914
AN ‘/a # 2502908
. B # 2502914

¢ 32012761y
g = '

\‘ \ ; 4’?"/¢ # 3201271
d # 3200669

‘

24" Frame # 6030261
20 Frame # 6030262

# 2702947 7
# 2703023 INE
) PN A

N ‘\ & (4 2501494
AN
‘“\\\\\\\Q # 2501628 N
[N )
\ %\\\\\ #2501629 \
# 2502563 ((\& # 2702647 # 3201276
# 2501630 X ' # 2502908
N\
W %@&
v
SOV 42501629
‘N # 2501628
# 2502934
# 2902961
¢ 2900018
# 2600457 157 CL (5 GPM)
# 2600458 127 CL (12 GPM

# 2600460 1.01 CI. <10 GPM)
# 2600459 .87 CI. (8 GPM>

# 2502546




HAND SAW PARTS LIST

DRAWING #1
Part Number | Qty. Required Description
2501494 1 Load Adapter Shaft Seal
2501628 2 Bearing
2501629 2 Race
2501630 1 Hydraulic Motor Shaft Seal
2502546 1 Housing
2502563 1 Backing Ring
2502908 2 1/4" Water Way Tubing
2502909 1 1/4" Red Water Hose
2502914 3 Clamp Water Tube
2502934 1 Washer
2600167 1 BS Nut LH Thread
2600457 15 GPM Motor
2600458 12 GPM Motor
2600459 8 GPM Motor
2600460 10 GPM Motor
2602647 1 Shaft
2702947 1 Inner Collar Key
2703023 1 Grease Fitting
2900018 2 3/8" Nylock Nut
2900605 1 Shear Pin
2902961 1 Stover Half Nut
2903040 2 Carriage Bolt
3200669 1 1/4" Hose Barb
3201271 1 Water Valve
3201276 2 Compression Fitting
6030205 1 Inner Collar
6030206 1 Outer Collar
6030261 24" Frame Only
6030262 20" Frame Only
SEAL KITS

2502903 Directional Motors
2502933 Bi-Directional Motors
2501630 Shaft Seal ALL Motors
2502563 Shaft Seal Spacer




Drawing #2

# 1800169
# 1800767

# 1800865

#2900039
#2900567

#23501515
#2501583

#2702688

D

#23502693

#2900998 #2900126 O,
#2900024



HAND SAW PARTS LIST
DRAWING #2

Part Number

Qty. Required

Description

1800169 1 Serial Number Tag
1800767 1 GPM Decal
1800865 1 Rotation Decal
2501515 1 Bushing

2501568 1 Pivot Bolt
2501583 2 Flange Bushing
2502576 1 Straight Bushing
2502693 2 Quad Seal
2502897 1 Bearing

2502911 1 Valve Cap
2702688 1 Metro Valve
2900010 1 1/4-20 Nylock
2900024 2 1/4" Lock Washers
2900039 1 5/16-18 Nylock
2900048 1 1/4-20 x 1 1/2" Bolt
2900126 3 1/4" Flat Washers
2900567 3 5/16" Flat Washer
2900939 2 Heli-Coils
2900998 2 1/4-20 x 1 3/4"
6040498 1 Trigger




Drowing #3

# 2702689
e




HAND SAW PARTS LIST

DRAWING #3
Part Number Qty. Required Description

2502921 1 Fitting
2502924 2 Fitting
2503334 1 Tube Assembly
2503335 1 Tube Assembly
2702689 1 Fitting
3200104 1 Female QD
3200105 1 Male QD
3200802 1 Fitting
3200803 1 Fitting
3200805 1 Fitting
3201274 2 1/2" Swivel Fitting




EQUIPMENT AND PARTS
WARRANTY

Discount-equipment warrants all equipment sold by it against defects
in workmanship or materials for a period of one (1) year from the date of
shipment to Customer.

The responsibility of Discount-equipment under this Warranty is limited to
replacement or repair of defective parts, of such parts as shall appear to us upon
inspection at such parts, to have been defective in material or workmanship,
with expense for transportation and labor borne by Customer.

In no event shall Discount-equipment be liable for consequential or
incidental damages arising out of the failure of any Product to operate properly.

Integral units such as engines, electric motors, batteries, transmissions,
etc., are excluded from this Warranty and are subject to the prime
manufacturer’s warranty.

THIS WARRANTY IS IN LIEU OF ALL OTHER WARRANTIES,
EXPRESSED OR IMPLIED, AND ALL SUCH OTHER WARRANTIES ARE
HEREBY DISCLAIMED.

Printed in U.S.A.

DIAMOND
PRODUCTS




PARTS FINDER

Search Manual Can't Find Part or
Search Website Library For Parts Manual? Request Help
by Part Number Manual & Lookup Part by Manufacturer,
Numbers - Purchase Model & Description

DiS coun t or Request Quote
Equipment

Search Manuals

Discount-Equipment.comis youronline resource for quality parts & equipment.

Florida:561-964-4949 Outside FloridaTOLLFREE:877-690-3101

Need parts?

Click on this link: http://www.discount-equipment.com/category/5443-parts/ and
choose one of the options to help get the right parts and equipment you are looking
for. Please have the machine model and serial number available in order to help us
get you the correct parts. If you don'’t find the part on the website or on one of the
online manuals, please fill out the request form and one of our experienced staff
members will get back to you with a quote for the right part that your machine needs.

We sell worldwide for the brands: Genie, Terex, JLG, MultiQuip, Mikasa, Essick, Whiteman,
Mayco, Toro Stone, Diamond Products, Generac Magnum, Airman, Haulotte, Barreto,
Power Blanket, Nifty Lift, Atlas Copco, Chicago Pneumatic, Allmand, Miller Curber, Skyjack,
Lull, Skytrak, Tsurumi, Husquvarna Target, Stow, Wacker, Sakai, Mi-T-M, Sullair, Basic,
Dynapac, MBW, Weber, Bartell, Bennar Newman, Haulotte, Ditch Runner, Menegotti,
Morrison, Contec, Buddy, Crown, Edco, Wyco, Bomag, Laymor, EZ Trench, Bil-Jax, F.S.
Curtis, Gehl Pavers, Heli, Honda, ICS/PowerGrit, IHI, Partner, Imer, Clipper, MMD, Koshin,
Rice, CH&E, General Equipment ,Amida, Coleman, NAC, Gradall, Square Shooter, Kent,
Stanley, Tamco, Toku, Hatz, Kohler, Robin, Wisconsin, Northrock, Oztec, Toker TK, Rol-Air,
APT, Wylie, Ingersoll Rand / Doosan, Innovatech, Con X, Ammann, Mecalac, Makinex, Smith
Surface Prep,Small Line, Wanco, Yanmar


http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/page/1517-search-manuals/
http://discount-equipment.com/parts/

	Cover Page
	Drawing #1
	Drawing #1 Parts Listing
	Drawing #2
	Drawing #2 Parts Listing
	Drawing #3
	Drawing #3 Parts Listing
	Warranty



